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Sload SiNell Anyd 2.

dedfeis Siuai quridl 2R-Agell A3gfa 2.

Sloaa sivai adl gRuMkis ubal sar 228l ¥ 8 ?

figa gololl WN2fcRiAdoll e [gyd Sivell N2(cAAcall JEA Sdi A AR el 81U 8 ?

SIWRedll uidi ZnSO, of sigel 2Avll ASIA 2 sRERI A,

ANA [Ei3ti 9121 ulbal 8 3 gl dof gdie sl Rigauafas Fell sg dd GuAl 8 2
298 K divaiid el 1 didl. €sl@ M" (aq) +ne” — M(s) gd HR aloéd ullsel 4.
figa RA&AMAs Fefl a0 E° ol Yead aiR (a) Rssua uindlg GRj ddel gAddl digl Aa (b) [eein
AfEH3Acisdl diyN KA Aagfa 2.

Acdlois Sivell WfRRAAA 2asdl A ulRoi «¥enql.

vaifeia sivati RRAAMKAS Ridde el SN WRGAAA Guz M e &1y & ?

Rigga A1AMAS SNall E° Aol ANIS dall RAciel AN,

figd AA1uMRIS S¥ell 2uNisel SI AsH avil.

iyl aiesiofl RiRse digsdl diuaiel 418 s Ad ciediy 8 ?

q1&sdl d sigele]l digsdiell SI isd dul.

Ay BelgRl A1 Aigdl SIY AA¥I).

uiglis Sy ud [sdlus SN gV As e wend.

RAdd dRel ¥ d yel Aedaigxs dlvisd si2 diridl ol - a1 AR ?

RAS AANiSA ASSAH AU,

sl2 dIdl vesiadl HiZal AAR—MAS Uelde ol 2. [Ans. : RizilFeNd]

Zn (s) | Zn** (aq) || Ag' (aq) | Ag 210d SN A2 JASAelell Ygelell E2u wvendl.

A HiZ2 virl viefai divis »sudl i R B ?

d g A il B ol Rssd UW2cAAc gisd —0.25V 2a 0.80V 8. @il sg aig ae H,SO, 18
BlIgQI¥al dIY Ysd SAA ?

qesdl d AcRAIESdl 4Vl 2Acig M.

AU VA siRisHAi duAAd SINg] ol M.

Ald H,0 o O, ai 3uidR sal A2 52dl FAS Udigdll ¥3R usA ?  [Ans. : 2F]

: 6l HISAI MW :

gicdla digsdl 21a [gyalienwedla digsdl aJell @le uve s3.

Riga uA1aM1s Sy 2a Riyalienvedla Siy 9Aa Gle U s,

AAeld dIgsdial AR Si AR URGN wend).

Zn(s) / Zn** a1l CU* 1wy / Cu(s) : Brac 81N a2, (a) SNell gl O3 Qaii Aels ia 3es €T 24al
(b) ells 2ia 38s wR adl kRN M.

uiell aR A%, o e dssl saiell Aa Fend.

ds 202185 SN A2 doll I 2a BRI ubal b0 adl uuMkIs UBARAN v,
Al AR fiyd gl URfeRARAde] (o021 yea Aad] usig oefl 2

2l W2 sAgsell gigeRni sARG Ay uAR sEi A AR Uk adl oell 2 (s, e T HT e <1

Cu A HCl ai gica adl otefl, uig HNO; aii Cu™ 2dikell 2l gicd &y B,
= 0.34V; =1.36V 2d  NO; + 4H* + 3e= — NO (g) + 2H,0, E;O_/NO = 0.97V
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osv (b) wanflad uRRAMKAI el sa1 ANEHSAcsdl sRI Cu o Cu+ 3i

—0.4V
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(@) sl S¥Ai siclal 381s ARIUR AN (el [EaTeiEll [gydel dgaai AU g NYA,
ug A HIZ A1 UG oel 2

(b) AdtleAd: ysl Slua RUIF s3] 2usidl «&dl, a1 AR ?

old efdcll uglaai A Siva Asclly 18 Feflai Asani ical & :

*F

WJ (@)  1mol Ag+ o Ag ai 3uidR sl A2 Sedl [Ugdudie NYA ?
(b) 9 2wl cload SN 3F udie UAR YR dl, ¥HI Adi Ag’ al
Cu™ iellal el 32d) & ? [Ans. : (a) 1F, (b) 2:1]

uaifid

: o2l HISAoll MW :

g WfeAdel GuAd sdla oflA ANl uBARA /A 2008l SA :
@ Fe’* (aq) and 1™ (aq), E293+/F82+ = 0.77V; E:’Z/zl’ = 0.54V

3 - .
(b) Fe’"(ag)andBr~(aq).Ela, fre2e =077V, Egr2 Jopr-— 107V

+ o =0 _
{c) Ag” (aq) and Cu(s), ECU2+/CU = 0.34V,; EAg+/Ag = 0.8V

sy 2al Sy AANis 4ol 2Aclg 2. Riylienwd gigeiel 2H4AU Ad dell diesdl A Avafa 2]

gldeld]

q1esdl a AR digsdidl GuaPidl «ena.

HSYR SINAHi guRidl Aols ua 3ANs wendl ddi adl uBARN A AHXIA 5, d dol IGREl EAMHAla
dell diE2val AN AN 8.
SRRl A i (a) el Rigdlicienaal ae gigeNofl AR digsdiai Aigdini y21s) sdi eflael
qgRl Uiy B,
(b) KCl a1 yein Rigd e a2 Aigdiell gaRl 418 daell AR diesdiai €2is)
gy B,
(c) Ficin Riga Riensad sz A%, o 3ed c>>A%, ol AW SRI HI¥ol MR
adl.
%diel ) i (a) ag arerd uba A9l

(b) cpielai wigRdl dwvisel viga siz A1A s Ad :Adid sl A1 B 2

As AcdAlis SNai Zn(s) + 2Ag" (aq) — Zn** (aq) + 2Ag(s) wand uba & 3. Q),

(@) s gy Rigd el clai ?
(b) dotl g w2 s ubRN & ?
(c) sNai ggdl [ugyduaieddl [k s¢ & ?
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(a) ucir a [scfa Rigdfiena A aifkdl 2.

(b) Riya =w@fas Sy : Mg/Mg®*(0.001M) Il Cu**(0.0001M)/Cu : a2 Ay MR e, =i,

=034V; E° — 2.375V. [Ans. : 2.651 V]

(a) S18cRA=AN AliAellall Wcol AU (61 2uve s31 dofl A GUAPIAIRA weNa).

(b) 0.001M CH;COOH oil gidelefl digsdi 4.95 x 107 Scm™ 811 Al doll Ri2Nsel 2uisoll vleiad] 3. i
CH;COOH ofl A%, =390.55 cm? mol™. [Ans.: o =0.126]

(@) MaR digsdid uifid sA. yelr Ad [scda RigdlenyD AR Adaiesdl e C
dofl afd M.

(b) lgeiel 2aAa (i) 50Q AAal (i) 100Q  €R1ddl Glod %IdRNA AUl dIBSAISINHI AY Addlal HIMAIH]
RiPaa sdiai 2119 & al ddHoll Aol i S §8R Ud) of &I dl [HY sidRlo) AGRAY 1L,
[Ans.:66.66 QO]  [Hint : K,=Y/50 21a K, =Y/100,

_ ki +ky - ki+ky, _ 1 1[Y+Y
50 100

E° . o =
cu™feu Mg Mg

V2 @) 21du eaifd)

Bi=iedi calsaaid digsdl = 2 2 R*Y 2|z
(a) &RSall [ugydlienyaofl (a0 4.
(b) 2.0 ARVUAR dlvuale ALl sclis AR UAR saiEl 800 cm’ Asisa gradl angell Awidl u2 Zedl widl
ol YA ? Ui, olo ofl "oidl =10.47 gcm™ i MR £n= 107.924gmol™  [Ans.:2.9x 10" cm]

]=;xy:R=66.66bﬂ&N]



